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2. Sketch the transfer function over 500-m.

3. Equalizer response
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4. Problem 345

F&v 1200 nin {'o (400 nm Va/ocf?l)/:f i’ 1‘.’4"”
: m/s of /’7
f= i T A = ,Zx/Og/ L= 23/0?
A / z»r/o;\‘ [4=m~6
w

Bu= £ - =238 THa

Z3.5*/0 12= §~°f§>!/03//g ¢y ~ {é//?: par perset:
ex/)?

5. Problem 3.50

7[;-1/ Adls O.Cnyg

-9
B = 1,/-43 5 Zx0°x0.2%0 _ 6.écth
S (et oo
(/S’GO*/D"y
. GSSUlyin nomm/ bandyas s cops 700 cau

ochious. Kt rates up A 166 6bp s per laqm/my?%
vsed

stanclans S 10 and 1.¥ Chps .ZX/'STL) 21 fhar
’Z w/u'c[a cou/O_f he USe,cp

Page 3 of 18



EECS 3213 Assignment 3 Solutions Fall 2014

6. Problem 3.55
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11. Problem 3.11
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12. Problem 3.12
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14. Problem 3.18
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15. Problem 3.19
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16. Problem 3.21
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18. Problem 3.28
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19. Problem 3.30
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